GCSE 9 - 1 Questions

[ Surds J

Calculator Not Allowed

INSTRUCTIONS TO CANDIDATES
Write your name in the space provided.
Write your answers in the spaces provided in this question paper.
Answer ALL questions.

Any working should be clearly shown in the spaces provided since marks may
be awarded for partially correct solutions.

You should have a ruler, compass and protractor where required.

Total Marks :
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1) (a) Express \/5 in its simplest form.

Answer [1]
(b) Rationalise the denominator of o
5V3
Answer [2]
(¢) Simplify 9427 443
Answer [2]
2
(d) Expand and simplify (\/5 - \/5 )
Answer [2]
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2)(a) Rationalise the denominator of %

Answer
(b) Evaluate J3x12

Answer
(¢) Expand and simplify (\/’_] +21 )2

Answer
(d) Evaluate (2-+/5)(2++/5)

Answer
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[2]

[2]

[1]
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5 (a) Show that (V8 +3v2)* = 50

20
(b) Rationalise the denominator of f

Answer
(c) Giventhat p= x/§, q= J6 and r =24
5 5 g‘
simplify 7
Answer
(d) Expand and simplify ( 5- \/5)2
Answer

Visit www.mathsnote.com for more resources

(2]

[2]

[2]
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4 8x+/5 x/3x/3
) (a) Evaluate x5 . [2]

(b)  Simplify (345 =v2)(3V5 + 4/2) and state whether your answer is rational or irrational,

..........................................................................................................................................................................................................
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5)(a) Express V75 inthe form av/P, where ¢ and # are whole numbers. [2]

3]
T—~3I7 ++3
{c) Evaluate ( \/_)2( J_)
State clearly whether your answer is rational or irrational. [2]
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10
6) Rationalise the denominator of T
2

Answer [2]

(b)  Simplify (7 — 54/2)2 and state whether your answer is rational or irrational. [3]
2

(©) Simplify (v20-+/5)" 2]
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7) Evaluate (v50-3v2) . 3]
(b)  Simplify (V78 + v2)° [2]
(¢) Simplify (5-32)(5+3v2). [2]
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8) Rationalise the denominator in %
3

Answer [2]
9) Given that p = \/g and g = \/%,
(i) find the value of p?,
Answer [1]
(ii) show that (p + ¢)*> = 45.
2]
10) Simplify (V8 )?
Answer [1]
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11) Expand (7 — \/5)2 giving your answer in the form a + b\/§

Answer 2]

12) Simplify

s

V32 x+2

and state whether your answer is rational or irrational. [5]

..........................................................................................................................................................................................................
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13) Given that f =+/2, g =+/5 and 2 =10 , find, in its simplest form,

N 4
(l.) ? »

1]
(i) fg+h,
s
Gii)  fh
i
14) Simplify (3—J§)2. 2]
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15) Simplify (4 +/3)2. [2]

16) Simplify +/288 .
White your answer in surd form. [2]
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